Math 1116, Voting Activity, Fall 2014 Name
Instructions: Counting ﬁhe following preference ballots according the Borda Count Method and the
plurality with elimination. Note any falrness criteria that have been|violated. Use the information frorn
the first voting activity. |
4 Nuwber of voters 5 3 3 5 3 ix
st choice N H B H F F
¢ » | 1 2 3
2nd choice | S F S B N N
3rd choice F B H N B B
4th choice H N N F S H
\ 5th choice | B S F S H “-/
1 S
Number of voters 27 19 8 15 2
Ist choice B A D & A
2nd choice D D € A C
3rd choice A (44 A D D
4th choice 3 B B b B
2,
Y = i E | F
1[5 vorers 45 40 15 |
2
3 [ 1stchoice B o, C
_4 |2ndchoice O C ] -
_ B | 3idchoice E o E
MG; | 4th choice c E a4
__Z“j Sth choice & B
3, (4 4 b »i’\Sheetl {sheatz [«| | will&
Numher of voters 25 20 10 30 1
1" choice I B H S 5
2™ ¢hoice S 7] F F §]
3T choice H ¥ S B B
4% choice B 5 B H F
4.
=t T Yox,
( Number of voters | 10 8 10 8 T &
1st choice A A ¢ D D B
2nd choice B D E C 8¢ E
3rd choice C B D B B A
4th choice D C A E A C
\_ Hth choice E E B A @Es 1) /
5.




sk A VofMCS A

I Rerdla Caut
Nz S(S) + A3 + 203) + 265) « 4(3) + 4Q)
H= 2(5)+ S®) + 3&3) + SEs) + 1(3) t2(2) =
Bz () v 33) + B ~a +3@) + 3G = |
Fz 3y + 4d =+ 13 22($) + 50) ~SQ) :
82 4y + 1B TAG) 4 U + 2BY *\(2) 2

M#E—[w

cm;qz

e

F2 A— Nouwma
bb

=h

bs
4%

2 vets Cant | m/(\m%.] 2 |

R=R B=T F=2¢ s=oco
Q@M N=S  H=ge3on Bl H ka0 g 50 6 s
Scnee H woon Prairvsan e, Boda Cocnk Producs &
& Codorent aulenion
Z. Bovda Court
A 20M)+ H(R) r 2R) + 33+ 4R)= |19
®- 4029 + \(l’l)rl!(E) FIUSY+ 1 (2): 1S 2
CZ @R+ 2(@) 3 + & (IS) + 3= \ST
D= 03) 4 3 (1) +‘4(z) F2(I5)+ 2(2)= 204 «— D covnn
Plonadily w/ Ehiminats,
P-4 = Fra=2 ?>| C= )5 y{ gebevmaﬁ;"dﬂ
2“?—f1:/'¢-*1 BT 23 = {Stg=23
gr{m‘( B 27 Cz23+21=z 44| & L owownon
bt Bovlo Counk and Plnaldy wof Elamratim nelatis Condo ek

5. Boda Courk
A= 1(45) + SW) + 2UDH= 270
Bz swus) 4+ 1= 190
C= A4+ 4y) + SUSI= 225
D= 4(4s) + 3(4%) +4US)= o L -Dwvm
€= 3(45) + J(40) + 3(8)< Zbo

Unlevion . Plowalitby oS/ Elinweradan alao wolitin T .




2 ot d. .
T e 2 e
yﬁ A= 4o415:=55 B=HS =Y Mﬁ(ﬁ’%
‘ A vann : | _
btz TA . bofte mathodo nslsks gofocet colerics
4. Boda Cowunk
F= 408 + 2030+ 3US) + 3(50) + 1LY 2FO ,
S= 302e) F 10t 200y + 4 (30) + 4UNE 2735 € FLomn
Bz 2(25) + 3Q2)+ 4lin) ~1(30) + 3(ld= 210
Bz 12 + 4@ed+1uod + 2) + 200) = |9S
?th w/ i:"&'wkTitm
H - < = 3 | = "
E;Q F=25 S=%+0c4h Y=l B=20 U o oSy
e €= Jsta=3s S=4o B/:/{n
3 F=2S+42e=ss S=*0 T vt |
|
S Bordle Coumt | 26 Ofwmﬁg(ﬂdvl

|
= Slioy + S&) + A(o) + 1 (&)~ Q-G?)—k—‘b(&}: 1SG
|
2 aUe) « B8 + VU + B () 3@+ S 1S9 .
® 30y A Z(R) + S0 £ AaR) TH(F) y UKD T \FHL & C vann
S o) +4(8) + 30 + SR TSEDT W T S
<= L) 4 1e-) + 4 (10) + 2.(3) + () + 4(&');=\\7>

Pluradity W Elinunatzon
I$ 4-)y B=g C=le D=IS E0
22 A=1348:20 ¢zlo D=is A v

%U’P&'&- (&MVJ




